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“ ~ For 2007, Company A had sales of 75,000 units and production of 100,000
units. Other information for the year included:
Direct manufacturing labor $100,000
Variable manufacturing overhead100,000
Direct materials 100,000
Variable selling expenses 120,000
Fixed administrative expenses 150,000
Fixed manufacturing overhead 200,000
There was no beginning inventory.
Required:
a. Compute the ending finished goods inventory under both absorption and
variable costing.
b. Compute the cost of goods sold under both absorption and variable
costing. (20%)

7 ~ An auditor for the Internal Revenue Service is trying to reconstruct some
partially destroyed records of two taxpayers. For each of the cases in the
accompanying list, find the unknowns designated by the letters A through

D. (20%)

Case 1 Case?
Accounts receivable, 12/31 $6,000 $2,100
Cost of goods sold A 20,000
Accounts payable, 1/1 4,000 1,700
Accounts payable, 12/31 2,800 1,500
Finished goods inventory, B 5,000
12/31
Gross margin 11,000 C
Work in process, 1/1 0 800
Work In process, 12/31 0 3,000
Finished goods inventory, 1/1 5,000 4,000
Direct material used 9,000 11,000
Direct manufacturing labor 3,000 6,000
Indirect manufacturing costs 7,000 D
Purchases of direct material 9,000 7,000
Revenue 32,000 34,000
Accounts receivable, 1/1 2,000 1,400
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